PORTABILITY KIT INSTALLATION

PORTABILITY KIT PART NUMBER: 0068294
TOOLS REQUIRED: 10mm and 13mm sockets and ratchets, block(s) of wood (minimum of 6” tall).

WHEEL INSTALLATION

1. Block up the alternator end of generator to install wheel kit.

2. Slide axle (item 13) through the wheel bracket on the carrier.

3. Slide the wheel (item 12) and size 16 washer (item 14) onto the axle, with the offset side of the wheel hub against the wheel
bracket.

4. Secure the wheel to the axle with the cotter pin (item 11).

5. Repesat above instructions for the remaining wheel.

FOOT INSTALLATION

1. Blocking up the engine side of the generator, assemble the foot bracket (items 6, 8, and 9) to the carrier (align with holesin
tubing) using two M6 x 45 bolts (item 7). Thread M6 nuts (item 10) to the bolts to secure the assembly.

2. Repesat above instructions for the remaining foot.

HANDLE INSTALLATION

1. Slide M8 x 45 bolt (item 4) through handle (items 1 and 2) and handle bracket as shown in diagram and secure with M8 nut
(item 5). Tighten until handle is securely clamped to the carrier.

2. Repesat above instructions for the remaining handle.

LOCKING HANDLE

1. Attach the lanyards (item 15) to the release pins (item 3) and carrier as shown in the illustration.

2. Tolock the handle in the extended position, align the holes in the handle brackets with the holes in the carrier brackets and
insert the release pins.

English 9 Customer Hotline 1-800-445-1805






